Exam
Name

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or
answers the question.

1) Which one names a person, place, or thing?
A) adjective
B) adverb
C) preposition
D) noun
E) pronoun

2) Which one explains or describes a verb, an adjective, or an adverb?

A) pronoun
B) adverb
C) noun

D) adjective
E) verb

3) Which one shows the relationship of a noun or pronoun to another

word in the sentence?
A) noun
B) pronoun
C) conjunction
D) preposition
E) adjective

4) Which one explains or describes a noun or pronoun?

A) preposition
B) verb

C) conjunction
D) adjective

E) adverb

5) Which one substitutes for a noun?
A) pronoun
B) adjective
C) conjunction
D) verb
E) preposition

6) Which one expresses action or existence?
A) verb
B) pronoun
C) adverb
D) preposition
E) noun

7) Which one joins two words or two groups of words?

A) conjunction
B) pronoun
C) preposition

1)

2)

4)

5)

6)

7)



D) verb
E) adverb

8) Jose Lopez and Jesus Perez have their offices in the new building. Jose 8)
Lopez is a/an
A) adjective
B) noun
C) preposition
D) verb
E) conjunction

9) Jose Lopez and Jesus Perez have their offices in the new building. Andis 9)
a/an .

A) preposition

B) conjunction

C) pronoun

D) verb

E) adjective

10) Jose Lopez and Jesus Perez have their offices in the new building. Have 10)
is a/an
A) verb
B) preposition
C) adverb
D) noun
E) conjunction

11) Jose Lopez and Jesus Perez have their offices in the new building. Their 11)
is a/an
A) adverb
B) pronoun
C) conjunction
D) noun
E) preposition

12) Jose Lopez and Jesus Perez have their offices in the new building. Offices  12)
is a/an
A) verb
B) noun
C) pronoun
D) adjective
E) conjunction

13) Jose Lopez and Jesus Perez have their offices in the new building. In is 13)
a/an
A) conjunction
B) adjective
C) adverb
D) preposition
E) pronoun

14) Jose Lopez and Jesus Perez have their offices in the new building. Theis a/a n



14)

A) adjective
B) preposition
C) conjunction
D) noun

E) verb

15) Jose Lopez and Jesus Perez have their offices in the new building. Newis 15)
a/an .
A) adverb
B) conjunction
C) adjective
D) pronoun
E) verb

16) If you do not know to what port you are sailing, no wind is good. If is 16)
a/an
A) pronoun
B) adjective
C) verb
D) preposition
E) conjunction

17) If you do not know to what port you are sailing, no wind is good. You is  17)
a/an .

A) adverb

B) pronoun

C) preposition

D) adjective

E) noun

18) If you do not know to what port you are sailing, no wind is good. Wind  18)
is a/an
A) pronoun
B) verb
C) adverb
D) adjective
E) noun

19) If you do not know to what port you are sailing, no wind is good. Is is 19)
a/an
A) pronoun
B) preposition
C) noun
D) conjunction
E) verb

20) If you do not know to what port you are sailing, no wind is good. Good 20)
is a/an .
A) preposition
B) verb



C) adverb
D) adjective
E) noun

21) If you take yourself too seriously, no one else will. Take is a/an .21
A) adjective
B) noun
C) verb
D) preposition
E) adverb

22) If you take yourself too seriously, no one else will. Too is a/an . 22)
A) adverb
B) preposition
C) conjunction
D) pronoun
E) adjective

23) If you take yourself too seriously, no one else will. Seriously is a/an 23)

A) verb

B) pronoun
C) conjunction
D) adjective

E) adverb

24) Leaders have a keen sense of fairness and justice. Sense is a/an . 24)
A) adverb
B) noun
C) verb
D) pronoun
E) adjective

25) Leaders have a keen sense of fairness and justice. Keen is a/an . 25)
A) pronoun
B) noun
C) adverb
D) adjective
E) verb

26) Which of the following sentences uses a helping verb? 26)
A) Susan wins the race.
B) Susan won the race.
C) Susan has won the race.

27) Which of the following is not an action verb? 27)
A) invite B) relax Q) feel D) play

28) Skiing is my favorite winter sport. Skiing is a/an . 28)
A) action verb B) linking verb

Q) infinitive D) gerund



29) To know love is to experience the passion of a lifetime. To love and to 29)
experience are

A) infinitives B) gerunds
C) action verbs D) linking verbs
30) Which of the following is not a type of adjective? 30)
A) descriptive B) pointing
C) dependent D) limiting
31) Josephine fell in love with Napoleon instantly and married him before 31)

he left to fight in the war. Josephine and Napoleon are
A) proper nouns
B) gerunds
C) verbs
D) infinitives
E) common nouns

32) Josephine fell in love with Napoleon instantly and married him before 32)
he left to fight in the war. Fell and married are
A) common nouns
B) proper nouns
C) gerunds
D) verbs
E) infinitives

33) Josephine fell in love with Napoleon instantly and married him before 33)
he left to fight in the war. The phrase To fight is a/an
A) verb
B) common noun
C) gerund
D) infinitive
E) proper noun

34) After the meeting, Constantine and Loretta quickly flew to Paris for the  34)
holiday season. Quickly is an .
A) adjective B) adverb

35) After the meeting, Constantine and Loretta quickly flew to Paris for the  35)
holiday season. Holiday is a/an
A) preposition
B) conjunction
C) adverb
D) adjective
E) none of the above
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13) D
14) A
15) C
16) E
17) B
18) E
19) E
20) D
21) C
22) A
23) C
24) B
25) D
26) B
27) C
28) D
29) A
30) C
31) A
32) D
33)D
34) B
35)D



